Lecture 8: Chapter 27, September 20 2005

The Coulomb law has shape analogous to the gravitational
law = we can introduce electric potential energy:
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(a) Like charges
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(b) Opposite charges
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A couple of problems...

! Problem 44

: \ A proton’s speed as It passes
point A is 50,000 m/s. It
follows the trajectory shown in
figure. What is the proton’s
speed at point B?




Mechanical energy is conserved if the forces are conservative
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Problem 71

Figure shows a thin rod with
charge Q that has been bent
Into a simicircle of radius R.
Find an expression for the
electric potential at the center.
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End of Lecture 8

Reading: Finish Chapter 29
Review for Quiz 4

Home Work 4



